
48h
12h

>0
,0

2m
³K2/K3

x27 HIC
120x2

17

0,
06

 m
³

x27

6135 TX40TX20 PZ1

[cm]

v015
20.04.2022
D. P.

WD1415



[cm]



  1
20

  

  615  

  9
0 

 

  2
90

  

0,00

  3
95

  

  3
26

  

[cm]



  395  

  6
15

  

  1
00

  

  200  

  200  
  1

00
  

  150    150  

  1
50

    150  

  150  

  1
50

  
  150    1

50
  

  150  

  R100  

  R
10

0  

  R100  

  R
10

0  

  R150  

  R150  

  R150  

  R
150  

  R150  

  1
50

  
  1

50
  

  R150    R
15

0 
 

  R150  

  R
15

0 
 

  9
15

  

  745  

[cm]



  0,4  

  0
,4 

 

  0,
4  

x27

0,
06

 m
³

  5
5 

 

  4
0 

 

  1
5 

 

  5
5 

 

  1
5 

 
  80  

K2 K3

-5

-40

0.00

K1

Ø10

76x   M10x120   (K2)

NOT
INCLUDED

80x   M10x120   (K3)

20
30

40

C.

A.

B.

m
in
.2
0

R10
45°

20
30

40

C.

A.

B.

Ø8

4x   M8x120   (K3)

NOT
INCLUDED

8x   M8x120   (K2)

0,
06

 m
³

x27

48h
x2 12h

>0
,0

2m
³K2/K3

x27

  8
0    1

5 
 

  80  

x17

0,
09

6 
m

³
  42  

  42  

  1
09

    1
44

  

  63  

  77  

  7
3 

   5
3 

 

  74    148    74    74    74    76  

  7
4 

 
  7

4 
 

  6  
  12  

  16  

  16  

  51  

  37  

[cm]



171233
x2

141103
x2

  3
2 

 A

  6
2 

 
B   1

59
  

C

  1
89

  

D

  2
49

  

E

  2
79

  

F

141100
x2

142109
x4

141101
x2

141154
x1

141129
x2

141375
x2

141168
x1

141169
x1

141128
x2

141126
x1

141130
x1

996184
x2

141132
x2

141190
x2

145113
x1

141379
x2

991104
x1

991105
x1

i93
x2

i171
x4

14727990
x1

14724990
x1

14718990
x5

14715990
x5

14706290
x2

14703290
x4

141133
x4

994104
x1

994103
x1

141127
x1

144126
x2

142138
x2

145141
x1

B144
x2

995137
x4

142117
x3

141267
x1

994123
x2

141155
x2

141112
x1

141160
x2

141376
x2

141372
x6

141164
x1

141165
x1

S6S6

994150
x1

994163
x1

S6 S6

[cm]



K3

992104
x2

992100
x2

K1, K2

142100
x16

K3K2

142108
x16

142102
x16

K1

042165
x1

K3

K1, K2

142106
x1

142152
x1

K3

K1, K2

P78
x4

142105
x2

K1

042163
x1

K1K3

b219-2
x4

K2

142112
x2

K3

142122
x2

K2

042164
x1

ST/INOX PLYWOOD / HDPE HPL

236x 8x50 sxi 10x CE60 10x CL60
18x WD1 2x CE53 2x CL53
1x V001 2x WD85 2x WD86
2x E34 (K1, K3) 3x WD63 3x WD64
2x E35 (K2) 2x CE9 2x CL9
2x WD27 3x WD15 3x WD16
2x E150 3x WD35 3x WD36
3x WD14-4 1x WD37 1x WD38
1x WD66 2x WD28 (S1) 2x WD29 (S1)

2x E88 (K2, K3) 4x WD93 4x WD99
4x E170 2x WD74 2x WD75

2x WD72 2x WD73
1x WD116 1x WD117
2x WD113 (S6) 2x WD114 (S6)

2x P061 S6

[cm]



[cm]



8x50 sxi

8x50 sxi

h

WD72 WD73
PLYWOOD HPL

HPLPLYWOOD

WD75WD74

8x50 sxi

HPLHDPE

WD117WD116

TX40 135

A

A

AA

B

F

E

D

D

D

D

D

C

C

C

C

C

B

x
x

x
x

x
x

xx

x
x

x
x

141101

141101

141100

141100

S6 2x P061

[cm]



  4,5  

h

8x50 sxiE170

  7
4 

 

  7
4 

 

  1
65

  

13TX40 5 4

CE9 CL9
HDPE HPL

h

  4,5  

h

8x50 sxi

  6
5 

 

  7
2 

 

  7
0,

4 
 

  7
0 

 

141129141130

  7
4 

 

141132

  4,5  

h

  7
0,

4 
 

  7
2 

 

  6
5 

 

  7
0 

 

141129141154

  6
6 

 

  6
6 

 

141133

  6
6 

 

141126

141128

8x50 sxi

  7
4 

 

  7
3 

 

[cm]



  9
  

  4,5  

WD278x50 sxi

WD14-4E88

K2, K3

HPLPLYWOOD

WD64WD63

h

  7
4 

 

  4,5  

  4.5  

h

176TX40 135

8x50 sxi

E1508x50 sxi

  4,5  

  7
4 

 

  5
5 

 

FIX

  1
9,

5 
   4

6 
 

[cm]



HPLPLYWOOD

WD36WD35WD15 WD16
PLYWOOD HPL

WD37 WD38
PLYWOOD HPL

1765 134

8x50 sxi

HPLPLYWOOD

WD64WD63 WD66 WD14-4

142138 

b144 

FIX

  4.5  

h

  7
4 

 

  4,5  

[cm]



CTX20

3

4 TX40

108 Ø10

17

TX30

Ø4

6 135

  4,5  

  2
5 

 

8x50 sxi

8x50 sxi

  4,5  

h

8x50 sxi

WD93 WD99
HDPE HPL

  8
  

141376

141376

141375

141375

141164

141165

141168

141169

141190

[cm]



CTX20

3

4 TX40

108 Ø10

17

TX30

Ø4

6 135

HPLHDPE

CL60CE60
HPLHDPE

WD86WD85

  4,5  

h

CE53 CL53
HDPE HPL

HPLHDPE

CL60CE60

HPLHDPE

CL60CE60

HPLHDPE

CL60CE60

HPLHDPE

WD86WD85

141160

141372  

141155 141379

141160

141155

141372  

141379

[cm]



S6WD113 WD114
PLYWOOD HPL

HPLPLYWOOD

WD29WD28 S1

TX40171365

h

  7
4 

 

  4,5  

8x50 sxi

  4.5  

h

E34

K1

E34

K3

E35 E35

K2

  4
1 

 

[cm]



000000-00000

00000
000000-
Part No:

V001

  1
0 

 
  1

2,
5 

 

0,00

WD1

TX20PZ1

  1
0 

 

0,00

  1
0 

 

0,00

  1
0 

 

0,00

[cm]


	Лист1
	Чертежный вид2

	Лист2
	Чертежный вид4
	Чертежный вид5
	Чертежный вид8
	Чертежный вид9

	Лист3
	Чертежный вид11
	Чертежный вид12

	Strefa
	Чертежный вид14

	Beton
	Drawing View41

	Elementy
	Чертежный вид15
	Чертежный вид16
	Чертежный вид17
	Чертежный вид18
	Чертежный вид19
	Чертежный вид20
	Чертежный вид21
	Чертежный вид22
	Чертежный вид25
	Чертежный вид27
	Чертежный вид32
	Чертежный вид34
	Чертежный вид36
	Чертежный вид39
	Чертежный вид41
	Чертежный вид43
	Чертежный вид45
	Чертежный вид48
	Чертежный вид51
	Чертежный вид53
	Чертежный вид55
	Чертежный вид64
	Чертежный вид66
	Чертежный вид68
	Чертежный вид69
	Drawing View1
	Drawing View3
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View42
	Drawing View43
	Drawing View44
	Drawing View47
	Widok rysunku1
	Widok rysunku2

	Лист4
	Uwaga(2)
	Montaż
	Чертежный вид93

	Лист6
	Drawing View13

	Лист7
	Drawing View14

	Лист8
	Drawing View15

	7-Montaż(2)(2)(2)(2)
	Drawing View18
	Widok szczegółów  (1 : 6)

	7-Montaż(2)(2)(2)(2)(2)
	Drawing View50
	Drawing View51

	7-Montaż(2)(2)(2)(2)(2)(2)
	Drawing View22

	Tabliczka Vinci play(2)(2)
	Drawing View23


